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1.

Which one of the following political theories advocates
the withering away of the state and ushering in a new
society in which there will be no state and no classes?
(a) Liberalism (b) Democratic Socialism
(c) Marxism (d) Fabien Socialism

Consider the following:
1. Sovereign 2. Parliamentary

3. Secular 4. Federal

How many of the above words are to the term
“Republic” in the Preamble?
(a) One only

(c) Three only

(b) Two only
(d) Four only

Which of the following is a good reason to conclude that

the authority of the constitution is higher than that of

the parliament?

(a) The constitution makers were more eminent leaders
than the Members of the parliament.

(b) The constitution was framed before the Parliament
came into being.

(c) The constitution specifies how parliament is to be
formed and what are its powers.

(d)The constitution cannot be amended by the
parliament.

Which of the following statements best reflects the

concept of constitutionalism?

(a) The idea that a country must have a written
constitution to function effectively.

(b) A system of governance where the authority of the
government is limited by a framework of fundamental
laws and principles.

(c) The belief that the government can exercise
unrestricted power as long as it reflects the will of the
majority.

(d)A political system that prioritizes economic
development over individual freedoms and legal
constraints.

Consider the following statements:

1. The President of India cannot return the Money Bill to
the Lok Sabha for reconsideration.

2. The Governor has power to declare a financial
emergency in relation to the state.

Which of the statements given above is/ are correct?

(a) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

Consider the following information:

(Ramsar site) (State) (Nature of construction)
1. Nanjarayan Bird -Tamil Nadu -Manmade Sanctuary
2. Kazhuveli Bird - Kerala -  Natural Sanctuary
3. Tawa Reservoir - Gujarat - Manmade
In how many of the above rows is the given information
correctly matched?
(a) Only one
(c) All three

(b) Only two
(d) None

10.

11.

Consider the following information:

(Species) (Region) (IUCN Status)
1. Muggar-  ThoughtiIndia - Vulnerable
in coastal area
2. Ghariyal -  Chambal, Girwa - Critically
river system Endangered
3. Salt water - Only on western - Least concern
Crocodile  coast

In how many of the above rows is the given information
correctly matched?
(a) Only one

(c) Only three

(b) Only two
(d) None

Which of the following submits audit report on public
undertakings to the President?

(a) Committee on Public Undertakings

(b) Committee on Estimates

(c) Committee on Public Accounts

(d) None of the above

The doctrine of ‘the basic structure of the Constitution’

as a principle of judicial review.

(a) Is strictly in accord with the principle of ‘procedure
established by law’.

(b) Is consistent with the principle of ‘the due process of
law’.

(c) Accepts the theory that the legislature is the supreme
law-making authority.

(d) Assumes the power of judging the wisdom of the
sovereign legislature.

‘The Cabinet form of government’ means?

(a) A form of government in which all the members of
the Cabinet are popularly elected on the basis of
universal adult franchise.

(b) A form of government in which the Cabinet is
supreme and is not accountable to any other organ of
the State.

(c) A system of government which is marked by the
existence of a group which collectively decides on the
policies of the government and which is also
collectively responsible to the Parliament.

(d) A form of government in which it is the President,
and not the Prime Minister, who presides over the
Cabinet meetings for the reason that he is directly
elected by the people.

A welfare state envisages

(a) A fully egalitarian society.

(b) State ownership of the means of production.

(c) Abolition of private property.

(d) A system which combines right to personal property
with state intervention for social security and
providing help to the needy and indigent.
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Consider the following statements regarding the

Panchayati Raj institutions in India:

1. Panchayati Raj institutions are mandatory in all
states and union territories.

2. They have the power to levy and collect income tax
within their jurisdiction.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

Consider the following statements regarding Gram

Sabha:

1. Gram Sabha has been defined in Indian Constitution.

2. The Gram Sabha has the authority to approve plans
and projects for social and economic development.

3. Meeting of Gram Sabha is organized only after
Necessary approval of Village Sarpanch.

Which of the statements given above is/are incorrect?

(a) 1 only (b) 3 only

(c) 2and 3 only (d) 1 and 2 only

Consider the following statements:

1. Courts have no jurisdiction to examine the validity of
a law relating to delimitation of constituencies or
allotment of seats in respect of Panchayats.

2. According to Indian constitution an election to a
Panchayat can be called in question only by an
election petition, which should be presented to such
authority and in such manner as may be prescribed
by the State Election Commission.

Which of the statements given above is / are correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

Which one of the following statements is not true in
regard to the National Human Rights Commission?
(a) It caninquire Suo motu on a petition.

(b) Itis a body of the Government of India.

(c) It can review any matter including acts of terrorism.

(d) It spreads Human Rights literacy.

Which of the following country has become the first
country in the world to introduce a tax on livestock
Carbon Dioxide emission?
(a) USA

(c) Brazil

(b) Denmark
(d) Philippines

17.

18.

19.

Consider the following:
1. Remittances 2. Small Saving

3. Provident fund 4, Grants in aid

How many of the above are the part of Consolidated
Fund of India?
(a) Only one
(c) Only three

(b) Only two
(d) All four

Which one of the following is an example of both an
igneous as well as a metamorphic rock?

(a) Gabbro (b) Geyserite

(c) Gneissoid (d) Granite

What are the factors which can influence temperature
of a place?

1. Soil

2. Slope

3. Sun Spot activities

Select the correct answer using the code given below:
(a) 1and 2 only (b) 3 only

(c) 2and 3 only (d) All of the above

20. Consider the following statements regarding clouds:

1. Cirrus clouds are formed at high altitudes and have a
feathery appearance.

2. Cumulus clouds look like cotton wool with a flat base
and exist in patches.

3. Stratus clouds are black or dark Gray and are formed
at middle levels or very near to the surface.

Which of the statements given above is/are correct?

(a) 1 only (b) 1 and 2 only

(c) 2 and 3 only (d)1,2and 3

21. Consider the following statements regarding the

distribution of freshwater resources:

1. Ice caps and glaciers account for the largest share of
Earth’s freshwater, followed by lakes, rivers, and the
Atmosphere.

2. Streams and rivers have a higher share of Earth’s
freshwater compared to lakes and the atmosphere.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c)Both1and2 (d) Neither 1 nor 2
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Consider the following statements:

1. Hadley cells are key to understanding the wind
patterns of Earth.

2. Hadley cells are formed because the Equator is heated
more strongly by the Sun than other places, creating
thermal circulations.

With regard to the statements given above, which of

the following is correct?

(a) Both the statements are correct and statement 2 is
the correct explanation of statement 1.

(b) Both the statements are correct, but statement 2 is
not the correct explanation of statement 1.

(c) Statement 1 is correct, but statement 2 is false.

(d) Statement 1 is false, but statement 2 is correct.

The depositional feature of a glacier is:
(a) Cliff (b) Delta
(c) Moraine (d) Horn

Which of the following statements regarding Arc

Volcanoes is/are correct?

1. Arc volcanoes are found near divergent plate
boundaries.

2. Some of the world’s classical examples of cone-
shaped stratovolcanoes, such as Mount Fuji in Japan
and Mayon in the Philippines, are Arc volcanoes.

3. Some of the highest volcanoes on Earth are of the Arc
type, notably Nevado Ojos del Salado in the Chilean
Andes.

Select the answer using the code given below:

(a) 2 only (b) 2 and 3 only

(c) 1and 3 only (d)1,2,and 3

Which of the following statements in the context of
northern hemisphere is/are correct?

1. Vernal equinox occurs on March 21.

2. Summer solstice occurs on December 22.

3. Autumnal equinox occurs on September 23.

4. Winter solstice occurs on June 21.

Select the correct answer using the code given below:
(a) 1 only (b) 1 and 3 only

(c) 2 and 4 only (d)1,2and 3 only

Consider the following rivers and their locations:
1. Red River-  China and Vietnam
2. Yellow River - India and Bangladesh

3. Black River -  South America

How many of the above are correctly matched?
(a) Only one (b) Only two

(c) All three (d) None

27.

28.

29.

30.
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32.

Which one of the following statements is not correct?

(a) Ultrasonic waves cannot get reflected, refracted or
absorbed.

(b) Ultrasonic waves are used to detect the presence of
defects like cracks, porosity, etc. in the internal
structure of common structure materials.

(c) Ultrasonic waves can be used for making holes in
very hard materials like diamond.

(d) Ultrasonic waves cannot travel through vacuum

Consider the following:

1. Depends on gravity to reach its target, it’s called a
ballistic missile

2. Targeted as a projectile from a single launch force

3. Not much guided system

How many of the above are characteristics of Ballistic

missile defence system?

(a) Only one (b) Only two
(c) Only Three (d) None
Till date, cryogenic engine technology has been

developed by which of these countries?

(a) India, USA, Germany and Japan only

(b) Russia, France, China, Japan and USA only

(c) USA, China and United Kingdom only

(d) Russia, US, France, China, Japan and India only

Consider the following statement:

1. GSAT is a series of geosynchronous satellite placed in
geosynchronous orbit, with an orbital period same as
the Earth’s rotation period.

2. Geosynchronous satellites have the special property
of remaining permanently fixed in exactly the same
position in the sky

Select the correct answer using the code given below:

(a) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

Consider the following statements about Astra

1. This anti-aircraft missile is procured by India from
Russia

2. ltis a single-stage, smokeless, solid-propelled missile.

3. It may be launched from different altitudes.

Which of the statements given above are correct?

(a) 1and 2 only (b) 2 and 3 only

(c)1,2and3 (d) 1 and 3 only

Which one of the following pairs of Island and
Sea/Ocean is NOT correctly matched?

(a) Cayman: Caribbean Sea

(b) Falkland: South Atlantic Ocean

(c) Moluccas: North Pacific Ocean

(d) Diego Garcia: Indian Ocean
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(d) 3ceraifae i@ @atd & 8T ST Gohar gl

frfaf@a w AR«

1. € 3T & dh Igal o T Jecarehior |
R #ar &, 30 faffes Aasa war s gl
2.39 Ushd dled g & gfared favar Srar gl

3.38H SIET ANIGE YoTTell sTal gidv|

IRFT H A fFaet RAvae RRes Baa wn

qorrelt fr §2

(a) Shael Teh (b) ael &r

(c) FaeT T (d) IS TET

AT aF, FRSAF §oT adelid s § Fd & ganr
el fr 75 &2

(a) P R, AR, STHAT 3R FATITT

(b) haer &, Wi, AT, ST 3R @R

(c) e ARG, DT AR FoASes FhersH

(d) had &, AR, BiE, Ded, AT IR ARG

Arafaf@d Fy9 w AR F:U

1. ST H-HHGIOH Hell # YT H-FHAGITS 398
1 v Afwer 8, S afw smaftr g & g
HTT & TAT B

2. SaflsIeTa 3uargl & 3merer # S 34T Rufa &
TRl ¥ O R @ T [FAvar gar g

AT Re 71T F13 F 37907 FF F@ IW T

(a) Shael 1 (b) haeT 2

(01 3R 2 gt (d)a ar 1 3R & & 2

I F IR H AraRi@d sy9 W AR #1:

1. I UEI-TRehe RS IR o &6 ¥ T gl
2. I§ THol-TRT, YU Ied, S g-9R fAasa gl
3.30 faffies Sarsal & oiea foham o T &
IRFT H § FiT T YT TH &2

(a)Shael 1 3R 2 (b) haer 2 3R 3
(c)1,2 3 3 (d)daer 1 3R 3

frafaf@a #& @ B qdfiv stk aPrvAseER & oo
gafaa 7@t §

(a) AT IfTTT PR

(b) Brhels: gfarol 3reaifes AR
(c) FTC[HIE: 3T JRITT HEHNR

(d) B mfdar: e AR
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34.

35.

36.

37.

Consider the following statements:

1. The podsol soils develop in areas with high
temperature and high rainfall.

2. Laterite soils are the result of intense leaching

process.

Select the correct answer using the code given below.

(a) 1 only
(c) Both 1 and 2

Match List | with List Il

(b) 2 only
(d) Neither 1 nor 2

List-I List-1l
(Town) (River Nearer to it)
A. Betul 1. Indravati
B. Jagdalpur 2. Narmada
C. Jabalpur 3. Shipra
D. Ujjain 4. Tapti
Code

A B C D
(@) 1 4 2 3
(b) 4 1 2 3
(c) 4 1 3 2
(d) 1 4 3 2

What does not cause Regional Imbalances?
1. Uneven distribution of resources

2. Sustainable development

3. Lack of resources
4. Lack of technology

Select the correct answer using the code given below:

(a) 1and 3 only
(c) 2,3 and 4 only

(b) 2 only
(d) 1,2 and 4 only

Which of the following is/are the advantages of Crop

Rotation?

1. Efficient pest control management

2. Reduces the stress of weeds

3. Efficient utilization of labour

Select the correct answer using the code given below.

(a) 3 only
(c) 1and 3 only

(b) 1 and 2 only
(d)1,2and 3

Match List 1 with list Il and select the correct answer

using the code given below:

(Organism)

A. Viruses

B. Bacteria

C. Protozoan microbes
D. Worms

(@]
|
w
&)
[

(a)A-1,B-2,
(b)A—4,B-3,
(c)A-3,B-2,
(d)A-3,B-1,

@]

00

(Disease)
1. Elephantiasis
2. Tuberculosis
3. chikungunya
4. Malaria

38.

39.

40.

Who planted the 'Tree of Liberty' at Srirangapatnam?
(a) Hyder Ali

(b) Chikka Krishna Raj

(c) Tipu Sultan

(d) Devraj

Vanar senas, Manjari senas and magic lantern shows
were some of the forms of mobilization observed
during which of the following movements of the Indian
freedom struggle?

(a) Rowlatt Satyagraha

(b) Non-Cooperation Movement

(c) Civil Disobedience Movement

(d) Quit India Movement

Match List-1 with List-l and select the correct answer:

List-I List-lI
(A) Dayanand Saraswati 1. Gurukul
(B) Lala Munshi Ram 2. Dev Samaj

(C) Pandit Shiv Narayan 3. Anglo-Vedic Colleges

Agnihotri
(D) Lala Hansraj 4, Satyarth Prakash
Codes
A B C D
(a) 1 4 2 3
(b) 4 1 3 2
(c) 4 1 2 3
(d) 1 4 3 2

41. Which British military officer defeated Tipu Sultan in

42,

43.

India, Napolean Bonaparte in Europe and eventually,
became the Duke of Wellington?

(a) Arthur Wellesley (b) Robert Clive

(c) Warren Hastings (d) Richard Wellesley

The economic policy of the British in India was to

(a) Industrialize India.

(b) Bring India to the level of Western countries.

(c) Promote the material prosperity of the Indians.

(d) Convert India into an agrarian satellite of
metropolitan capitalism.

Tobacco cultivation was introduced in the Deccan by the

Portuguese during the 16th century. Tobacco smoking

reached the Mughal Court because of which one of the

following?

(a) The Portuguese missionaries introduced it into the
Mughal Court.

(b) The Mughal ambassador to Bijapur, Mirza Asad Beg
introduced it to Akbar.

(c) The soldiers of the Deccan spread this among the
Mughal nobility.

(d) The farmers who took to tobacco cultivation
introduced this to the Mughal Court.
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fArafaf@a Fr=t ® AR @

1. grsarer A 3=a amuaAeT 3R 3T ast aror &9 &
faefad g &1

2. eetrge fATE age onfier gfshar &1 oo gl

IR Ruav s A A T amad ¢/ §2

(a) haeT 1 (b) el 2
()1 3R 2 g=r (d)aT ar 1 3T & 2
¥l-1 & Ty gE-nF fae w1
- = 0
(2rev) (8% AP ad)
A. ST 1. garadr
B. STTGEIY 2. sTHeT
C. ST 3. forr
D. 35oiel 4. e
FIS:
A B C D
(@) 1 4 2 3
(b) 4 1 2 3
c) 4 1 3 2
d) 1 4 3 2

fraff@a & ¥ sia-ar el g #1 FRor @
©
1. FOTAT T AT FaRor

2. 9dd Ao

3. GETUAT ST HAT

4. WA 1 33T

A T 71w Fi3 F1 37T FEF T IW T
(a) Shael 1 3R 3 (b) FaeT 2
(c)dhaer 2,3 3K 4 (d)dhaer 1,2 3R 4

fArafaf@a & ¥ Fia-w/d v gHr & aner {2
1. F%rel e fAg=or yeere

2. WUAAR F 3cee] dAd HI i HIAT ¢

3.4 T FRAA 3TN

A Ru 71w 3 F1 3940 FF @ IW A
(a) haeT 3 (b)hael 1 3R 2
(c)haer 1 3K 3 (d)1,2 3R 3

¥ & ary gEnF faw w Ak A Re v ws
&1 3TANT FI& HE I o

(sha) (M)
A. fasToy 1. tforpfeafag
B. STy 2. 87 T
C. JIeTSiI3feT 9oy 3. Rreperayferan
D. A 4. FATT
(a)A-1,B—2,C-3,D-4
(b)A—4,8-3,C—2,D-1
(c)A-3,B-2,C-4,D-1
(d)A-3,B-1,C—2,D—4

. ot GrageaA # FadaAar F1 gar fFEe @emar an

(a) B&X 31eiT (b) FRreFpT FSUT TS
(c) &9 Goret (d) gavTaT

. G JT, Fol FaT AR TGS AT At HRCART FEAar

U & Pafaf@a & & s & el amed

F FT T R
(a) Uele Tcamrg (b) 3rEEANTT 3Tl
(c) TSI 3= el (d) 9 BIST 3ierelel

. g F g @ gafda A ik 7@ s gl

- SCUll
A. EaTele, TIETCAT 1. 78l
B. wTerT M I 2.¢d |ATS
c.9fza Rg arm=or 3. TI-afes wroret
R IEGREL
D. oTelT §aTST 4. AT Rl
HIE:
A B C D
(a) 1 4 2 3
(b) 4 1 3 2
¢ 4 1 2 3
d 1 4 3 2

. B fftr s fted & ara A A geaw F, A9

# fRTa e gar X ga: afdeeT &

3% T2
(a) 3R deiealr (b) JEE FST
(c) aR=T BREETH (d) Ras Joreer

. HRa # ST @ i Afy F 3gdeT o

(a) AR T HicARMaOT e,

(b) IR T II¥THT ST & TAX I AT,

(c) HRAAT hr e FHST I Fgrar &,

(d) TR I FGEHRIT Tolldle & H Il R &
qRafdd Sl

. 1691 erared) F SRreT qeenfarat ganT gawhe H daTR A

et g% A 7§ ot fAafaf@a & & fFw wF & FRor

TR HYE I SR a6 qgan?

(a) geramTel fARERAT & 58 Harel IR A GEJd o,

(b) SR & HITT Tsigd, [AST 3r8e 991 & 58 3T
& A T .

(c) GeFereT & Al & 58 FITT IHART & o e,

(d) dFSTE HT Wl A arel fohamedl o g0 el eXaR
& g&qd .



44.

45,

46.

47.

48.

49,

Which of the following describes the mandate of the

Sapru Committee?

(a) To make recommendations for the improvement of
the agrarian economy.

(b) To examine the workings of the Constitution as set up
in 1921.

(c) To make a proposal for the formation of an interim
government at the Centre.

(d) To examine the issues pertaining to minorities that
had plagued Indian political discourse.

Consider the following pairs

(Women leaders) (Contribution)

1. Usha Mehta Organized the ‘Secret Congress
Radio’

Gave leadership to the
underground revolutionary activity
Coordinated the non-violent

2. Sucheta Kriplani

3. Aruna Asaf Ali

resistance
How many pairs given above are correctly matched?
(a) Only one (b) Only two
(c) All three (d) None

Which of the following pairs are correctly matched?

(Famous tribal (Regions)
Uprisings)

1. Chuar Uprising Maharashtra
2. Ahom Revolt Assam

3. Pagal Panthis Bengal

4. Bhil Uprising Midnapore

Select the correct answer using the code given below:
(a) 1and 2 only (b) 2 and 3 only
(c) 2,3 and 4 only (d)1,2,3and 4

Which one of the following inscriptions mentions
Pulakeshin il's military success against
Harshavardhana?

(a) Allahabad Pillar Inscription

(b) Aihole Inscription

(c) Damodarpur Copperplate Inscription

(d) Bilsad Inscription

Which one of the following statements about the

teachings of Kabir is not correct?

(a) He was not against pilgrimage and idol worship.

(b) He believed in universal love.

(c) He emphasized on one God and the spread of devo-
Tionalism.

(d) He did not consider it necessary to abandon the
normal life of a householder.

What was Ziyarat in the language of the Sufis?

(a) Pilgrimage to the tombs of Sufi saints for seeking
barkat (spiritual grace).

(b) Reciting divine name.

(c) Offering free kitchens run on futuh (unasked for
charity).

(d) Setting up of auqgaf (charitable trusts).

50.

51.

52.

53.

54.

In case of economic slowdown, which of the following
factors is/are responsible for increase in demand of
goods in economy?

1. Increase in the income of consumer causes increase in
demand for normal goods.

2. Rise in price of substitute goods increases demand.
Select the correct answer using the code given below:
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Devaluation of currency will be more beneficial if prices
of

(a) Domestic goods remain constant

(b) Exports become cheaper to importers

(c) Imports remain constant

(d) Exports rise proportionately

Which of the following is/are considered as a form of
transfer payment?

1. Pension 2. Scholarship

3. Dividend 4, Subsidy

Select the correct statement using the code given
below:

(a) 1and 4 only
(c) 1, 2 and 4 only

(b) 2 and 3 only
(d) 1, 2,3 only

Which of the following will be the outcome if an

economy is under the inflationary pressure?

1. Domestic currency heads for depreciation.

2. Exports become less competitive with imports getting
costlier.

3. Cost of borrowing decreases.

4. Bondholders get benefited.

Select the correct answer using the code given below:

(a)1and 2 (b) 2 and 3

(c) 1and 3 only (d)1,3and 4

Which one of the following is correct in respect of the
above statements?

Statement-I: India’s share in global foreign direct
investment (FDI) inflows has consistently remained
above 5% in recent years.

Statement-1l: The Government of India has implemented
several reforms like easing FDI restrictions, introducing
the “Make in India” initiative, and improving the ease of
doing business to attract foreign investment.

(a) Both Statement-l and Statement-Il are correct and
Statement-Il is the correct explanation for Statement-I

(b) Both Statement-1 and Statement-Il are correct and
Statement-Il is not the correct explanation for
Statement-I

(c) Statement-1 is correct but Statement-Il is incorrect.

(d) Statement-I is incorrect but Statement-Il is correct.
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famafaf@a & & sla ar oy afffa & afddr @Ase)

&1 qoieT T Bl

(a) I 3regaear & GuR & fov BB Her.

(b) 1921 & TG AU & FHAGBST FHI T FIEAT

(c) g F IINHA THR & ST HT TEATT IGaTT.

(d) IeUHETRl F HfAT 37 Heel AT ST FHIT, S
IRART Telifas AL & gafad T | &1

farfaf@a 3ot w AR X

(AR ) (@reTe)

1. 39T Agar e FAF WA FT IS fomar

2. Gl FUT A Hifdepry Iafafeat
Aqea feam

3. 37501 INTA® Hell  Jfgds 9faIy & GH-ad fomar

3R Ru 7T fFaa 377 ¥d v & BFeme v

(a) haeT ThH (b) 3l ar

(c) efrtt (d) IS =TEt

Prafafee # ¥ #7 ¥ 2 v T

(wfdgy anfeamdt  (81)
ITad)

1. 3R fage HERTSE
2. 381 Tagre 3aH
3. 9mTer 9T ST

4. 0 fagre [GECINTS

A T 717 FT F1 @ F FH IR g
(a) Shael 1 3R 2 FHder (b) haer 2 3R 3
(c)Faer 2,3 3R 4 (d)1,2,3 3R 4

@ 3T dal § ¥ Hl9-u1 vF et &
fvey qasfe gfada # de7r awear #1 seaw Far
L1

(a) STGTETE, TIFH IchIvT o

(b) TgTeT 3cchiol o g

(c) STHIEIYR ATH-IETEHT Scehrol oI

(d) foears 3choT o

frfaf@a # ¥ Fia-ar e Fya FER A RNawHt &

fwr #F af 7 &2

(a) 3 drateat 3R AT o & favey 76 o

(b) ¥ gy 9H H faag Fa 2.

(c) 3BT Tah & e 3R s1fFdae & J9R W SR .

(d) 35BTeT WA IEEI-STaeT H TRARTT HG2TH 61
A

et it s # OrRRe = an

(a) AT Fecll & FhsRT Y, Sehc (ITEATICHE HUT) ITecd
F F v, .

(b) 32T ATH M.

(c) PG (S-HTAM &Tel) T TS ST T T qfoeh THS
3T .

50.

51.

52.

53.

54.

(d) 3RIF (YT =aTH) FATAT AT

Wfdw 7 & A A, @AFw & ¥ Flaar FRE
Irfegaedr # aeqgat A A A g F v GeeR
&

1. 3T T 3T A Jef& & HROT WHT TE3T
AW # gefa

2. Tl AT & HIAT A Jef q AT T T |
d T 71w Fi3 #1373 FF T IW T4

(a) hael 1 (b) Fael 2

()1 3R 2 a=r ()T ar1 3R T8 2

HqaT A FAAT FT HaHedS HOAF dAnEEF g, IR
(a) Y TEGIHT @1 FrAd TR W@

(b) 3T & fow AT TEar & I

(c) 3maTT PR @

(d) PR # eI ®9 @ gefr

farafaf@a & & FQ grdicRor sprae 1 v T AT
ST {2

1. gRreT 2. BTG

3. GITeTer 4. gfeasr

TE FUT FT TIT

(a)Fad 1 3R 4 (b) haer 2 3R 3
(c)shaeT 1,2 3T 4 (d)dhae 1,2,3

e srdegaeyr AEERT & @ # §, @ Felaf@a
# & Fia-a1 aRomA FEm?

1. O] HaT FT g4 |

2. 31T AGIM B ¥ AT e gfaeadf g sem
3.3YR &I &RTd g¢ AT

4. 918 RSP P BrIer A

# Rw 71w F13 FT 39T FF T FW T

(a)1 3R 2 (b)2 3R 3

()1 3R 3 (d)1,3 3R 4

INFT U F G # PR § @ FiF a1 @

&

HFYA-1 g & aut A IRgw gcger fageh g yag &

HRT i FEIET TR 5% & 3% ool &5 ¥

FYA-I T TWHR o Al Faer 3mi¥a = & v

F$ uR o] fHe & o & wwdens gfoedt & da

3T, FAF ST SF3ATY UES YE FIA AN AR F A

3T T FUREAT|

(a) @Al FUA-1 IR FUA-11 TET £, 3R FUF-1l, FUA-1 Fr
eI e B

(b) ST FUA-1 3R FUF-11 TET &, Afhad FUA- 11, FUA-I
T TE AT e R

(c) FUA-1 T &, Afhad FHUT-11 7T &1

(d) U1 T &, et HAA-11 FET B
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Consider the statements

Bangladesh:

1. Bangladesh has been one of the fastest-growing
economies in South Asia in recent years.

2. Bangladesh follows a multi-party democratic system
with a directly elected President.

3. The country’s economic growth is strongly linked to its
robust textile and garment industry.

4. Bangladesh’s strategic location and low labour costs
have made it an attractive destination for foreign
investment.

5. Bangladesh has the largest startup ecosystem in the
Indo-Pacific region.

Which of the statements given above are correct?

(a)2and 4 (b)3and5

(c)1,3,and 4 (d)1and?2

following regarding

Consider the following statements regarding Green

Bonds:

Statement-I:

Green bonds help in financing projects that have

environmental benefits, such as renewable energy and

sustainable infrastructure.

Statement-Il:

Green bonds can only be issued by government

institutions and not by private companies or financial

organizations.

Which one of the following is correct in respect of the

above statements?

(a) Both Statement-l and Statement-Il are correct, and
Statement-II explains Statement-I

(b) Both Statement-I and Statement-Il are correct, but
Statement-Il does not explain Statement-I

(c) Statement-1 is correct, but Statement-Il is incorrect.

(d) Statement-I is incorrect, but Statement-Il is correct.

What are the important sources for Human capital
formation?

1. Health Expenditure

2. On the job training to workers by a company

3. Education expenditure

Select the correct answer using the code given below:
(a) 1and 2 only (b) 2 and 3 only

(c) 1and 3 only (d) All of the above

58. Which one of the following is not a Harappan site?

59.

(a) Chanhudaro
(c) Sohgaura

(b) Kot Diji
(d) Desalpur

Which one of the following ancient towns is well-known
for its elaborate system of water harvesting and
management by building a series of dams and
channelizing water into connected reservoirs?

(a) Dholavira (b) Kalibangan

(c) Rakhigarhi (d) Ropar

60. Which of the following characterizes/ characterize the

people of Indus Civilization?

1. They possessed great palaces and temples.

2. They worshipped both male and female deities.

3. They employed horse-drawn chariots in warfare.
Select the correct statement/ statements using the
codes given below.

(a) 1and 2 only

(b) 2 only

(c)1,2and 3

(d) None of the statements given above is correct

Passage-1
In India, the objective of macroeconomic policy is to
enhance the economic welfare of the people, and any
one wing of such macro policy, monetary or fiscal, cannot
independently work without active supports of another.

61. Which one of the following statements best reflects the

corollary to the passage given above?

(a) The central bank cannot work independently of the
Government.

(b) Government should regulate financial markets and
institutions closely.

(c) Market economy is not compatible with the socialist
policies of the Government.

(d) Financial sector reforms are required for enhancing
the economic welfare of the people.

Passage-2

With steady economic growth, higher literacy and
increasing skill levels, the number of Indian middleclass
families has gone up exponentially. Direct results of the
affluence have been changes in dietary patterns and
energy consumption levels. People have moved to a
higher protein-based diet like milk products, fish and
meat, all of which need significantly more water to
produce than cereal-based diets. Increasing use of
electronic and electric machines/gadgets and motor
vehicles needs more and more energy and generation of
energy needs water.

62. Which one of the following statements best reflects the

crux of the passage?

(a) People should be persuaded to continue with the
mainly Indian traditional cereal-based diets.

(b) India needs to focus on developing agricultural
productivity and capacity for more energy
generation in the coming years.

(c) Modern technological developments result in the
change of cultural and social behaviour of the people.

(d) Water management practices in India need to change
dramatically in the coming years.
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TRy F IR A PEfRf@T Fyal 9w AR w#:¥

1. ST gTel & aut & gfeyor ufdar & ged aoft &
Fedl 3Tcgaramsit # ¥ Ush @ &l

2. SIS quqé‘lq AlhdiTaeh JOTTT T YTelel
T &, T degat ¥ @ g I AN Qv
3.3 1 3NF geftr o1 Al FEY FHS HATFA TE
AR g e @ g

4. qITATGET T WIAITdh TAT 3R FF S aed 50
facelt fAaer & v v 3vs Iidey I

5. UG & 9T 3a-UTAfhe & F Taw F37 Tre3T

ShITATCH gl
3R U 7w il @ Fya @@ 2

(a)2 3R 4 (b)3 3R 5
(c)1,3 3 4 (d)1 3T 2

i@ syal W AR &1 3t AT desw @ aefta

&

FYT-1 AT Fle3q 37 IR & AT H TR

A ¢ ToTART TATaRONT 18T 8T &, S AdIaoiT ol

IR Fad AgETET|

FYA-1Il AT Slegq FadT THR FEA3T gar I e

ST @ & el sufaat a1 faier et garT =g

39dad HYAT & Heol A farfaf@a & 4wl @r |

g7

(a) AT FUA-1 3R FUF-11 TET §, 3R FUAA-Il, FUA-1 Fr
REAT T &

(b) ST HUA-1 3R FYUA-11 TET &, oAfhad HUA-II, HUA-I
Fr IIEAT TG P

(c) FUT-1 TEY &, ATeheT HUT-11 AT B

(d) FUF-1 T &, AfeheT FUA-11 TET &

A et fAATT & T Ageaqet | w4 §
1. TAELT 9T

2.T& FHUAT GanrT AfAS & 3He-siia gfeler
3. et ==

A RT 717 Fi3 #1390 FEF T IW I
(a) haer 1 3R 2 (b) hael 2 3R 3
(c)haer 1 3R 3 (d) ITRYFT T

frfef@a & ¥ w91 v Ty gIour WIWAr ¥
weafaa gt &2
(a) TgE3T
(c) ErgaT

fmfaf@a & @ Fla-wr g&fid TR I Rega s
g 3R geEer o & e iy §, Swe st f
TF H@AT TATHL STl T I H F3 STt F garfea
fFar aar ar
(a) GiTTERT
(c) TrErTEY

(b) Ie &St
(d) SETTGR

(b) FTIEITT
(d)q9s

60. Yy wewar & At A Fla-dvFla-d Rdvanfedvand

61.

62.

4t

1.3 918 faeme Ager 3R AT )

2.9 I3 3R Al kAt a3t & I A Al

3.9 gy # Aigr-arfad Ut T 9T R Al

A faw a1 et #1 yAhr IS W FYA/FYAT B gl
(a)daer 1 3R 2

(b) el 2

(c)1,2 3R 3

(d) I T 71w AS oY FueT T g §

TR=sg -1
9Ra H, A ¥ AT (macroeconomic policy) T
3T den A e e H T g, 3R 39 RE
Fr AT F1 Fg off v T — FZF (monetary) AT
TIW(ﬁscal)—W*ﬂﬁW’W?ﬁﬂa?mW
T @ FHIH A& HT Hehl
fmfaf@a & & sl Fua 397w N F71 T
ﬂgﬁ'ﬁ'ﬁﬂi’ (corollary) ERITdT &
(a) FAT dF THPR & FGaT §T § F a1 HX FohT|
(b) TXPR I AT SOIRT AR TEATAT A FIE &
fafafaa s =gl
(c) ST 3cqae AT THR S HATSEE! Al &
IRl e T
(d) &t Fr 3fE Hemg See & fov oy &3 &
JUR 31aeTH ¢

afi=ade -2
e 3nfds fawm, 3Tg @eRar 3R sea @i TR
& FROT HRAT # ALIH oIy gRart fr d&ar dor &
98T 81 38 WHGY HT UoAET AT WU & UeeT 3R
Foll f UG & TR A dealid & & H THFHeT 37T &
AT 379 AHTAF WET o IMER S 78 3cUTE, HSell
3R A T AR 3T U &, Seg 3erar-3memia R
; goem H HOF Oe Hr ERIEHAT @ gl
soaciAd/gaideed AMAT 3R Aex argal 1 Fedr
3YIRT AT™F FolT I AT AT § 3R Foll e &
T STer &1 8f 3maegehdr gidr gl
famfaf@a & & sla-w Fya sFT RS F1 W1
(crux)mmWﬁ'@ﬁﬂT L
(a) AT I IRURF HATH-3TURT ARAT 3R Hr
YA WA & faw IRa v s anfgw)
(b) TR &I 3T aTer sl # HY Scdrgehdr HR ot
3cUTEe &THAT & A IR €1 Fhigd T aIfgu|
(c) 3MeTTeh cTehotteh! faehTEr olell & EiEepich 3R
AT cTagR 1 d&el &l &
(d) ARG H STeT JausT dr geufadr & A drer aut
o G TG P HARIHRAT &



Passage-3

Aristocratic government ruins itself by limiting too
narrowly the circle within which power is confined;
oligarchic government ruins itself by the incautions
scramble for immediate wealth. But even democracy
ruins itself by excess of democracy. Its basic principle is
the equal right of all to hold office and determine public
policy. This is, at first glance, a delightful arrangement; it
becomes disastrous because the people are not properly
equipped by education to select the best rulers and the
wisest courses. The people have no understanding and
only repeat what their rulers are pleased to tell them.
Such a democracy is tyranny or autocracy. — Plato

63. Which one of the following statements best reflects the

crux of the passage given above?

(a) Human societies experiment with different forms of
governments.

(b) Any form of government tends to deteriorate by
excess of its basic principle.

(c) Education of all citizens ensures a perfect, functional
and sustainable democracy.

(d) Having a government is a necessary evil because
tyranny is inherent in any form of government.

Passage-4

The main threat to maintaining progress in human
development comes from the increasingly evident
unsustainability of production and consumption
patterns. Current production models rely heavily on fossil
fuels. We now know that this is unsustainable because
the resources are finite. The close link between economic
growth and greenhouse gas emissions needs to be
served for human development to become truly
sustainable. Some developed countries have begun to
alleviate the worst effects by expanding recycling and
investing in public transport and infrastructure. But most
developing countries are hampered by the high costs and
low availability of clean energy sources. Developed
countries need to support developing countries’
transition to sustainable human development.

64. Unsustainability in production pattern is due to which of

the following?

1. Heavy dependence on fossil fuels

2. Limited availability of resources

3. Expansion of recycling

Select the correct answer using the code given below.
(a) 1and 2 only (b) 2 only

(c) 1 and 3 only (d)1,2and 3

65.

66.

Consider the following statements:

Developed countries can support developing countries’

transition to sustainable human development by:

1. making clean energy sources available at low cost.

2. providing loans for improving their public transport at
nominal interest rates.

3. encouraging them to change their production and
consumption patterns.

Which of the statements given above is/are correct?

(a) 1 only (b) 1 and 2 only

(c) 2and 3 only (d)1,2and 3

Passage-5
The emissions humans put into the atmosphere now will
affect the climate in the middle of the century and
onwards. Technological change, meanwhile, could make
a future transition away from fossil fuels cheap or it
might not, leaving the world with a terrible choice
between sharply reducing emissions at huge cost or
suffering through the effects of unabated warming.
Businesses that do not hedge against the threat of
uncertain outcomes fail. The world cannot afford such
recklessness on climate change.

Which one of the following statements best reflects the

crucial message conveyed by the author of the passage?

(a) Businesses that cause emissions may need to close
down or pay for pollution in future.

(b) The only solution is technological development
related to the issues of climate change.

(c) Waiting to deal with carbon emissions until
technology improves is not a wise strategy.

(d) Since future technological change is uncertain, new
industries should be based on renewable energy
sources.



63.

64.
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INTSHEH (ATAITE) TFER T9T A 3H HROT TS X
el & Hif% ag AfFa 1 sga MfAT @ o & dfAa
Wl §; Hforanishes (Tedan) TN doohlel el Wi
37l gls & FRUT TG F TG I ol gl Afehed ol
M TIT H IR AhdT & FROT ASC H T ¢l
SaH Ao Reyid a8 § & @ A g5 gror aa AR
Seeifa AuiRa & &1 A JAWeER g1 Tg ugel
TR H TH 3HVFH IITAT AT §; Afhed T8 faaTradiY
g1 STt § Fifch STeTdT eMEehT T TIT Hled IR THSIGRT
¥ My URor F& & 3mavas Qe @ o FE g
W AT Hael TET AT § S Iqh AR 3/ FIATAT
A ¢ VAT el T aedd o T dreener ar faagerar
§eT ST &1 — Teler

fmafaf@a & & sla-wr Fua s NS F1 F9@

Wm(crux)aﬁm %?

(a) ATTd FATST faffieet ThR I IRRT HT JIWET FAT
gl

(b) TR oY TR BT TIPR 39T el AT dr 3ifd
% HROT IodeT HI AR I gl gl

(c) Tt ATt T freT v afqey, fmamedier 3t
RT3 ehercT giafed e &

(d) TS 3 THR Teh a5 & Fifeh ol off
TR T TWER H e afifRa g &

TR<dE -4
Aa e & gerfd S0 3@ & T g9 937 W
3T 3T 39T & Yeod & Fodt IR T 3o
gIdT 8| ToATe 3cules Hisel HEId: SiaRd sueal &
e &1 319 I8 TOse @ Tr § T a8 RS Ad §
Faifh I e AT g1 ¥w gefr IR degsa
AT 3cgoT & T fr afass HI H ASAT IERTS ¢
difeh #Ae1d fashre aredd & ez oo ¥l o Aafad
&t F Gerelhor (Ramsfareiar) &1 Sgrar ¢Y AR At
qRaed Ta AT o 7 Adw Fd wew Y gea
I A HAT YE AT T § olfehed ferenier faeprereiver
gelt & AN TaTs Fell WAl S 3TT aerd 3R dfFT
3qSYdT ST STenT &1 {Apfad 2t = fAeraeher get
& Tdd AlAT AR T IR THAUT H I ST aART|

3es Yot # yfeRar Peafef@a & ¥ fFaF Fror
LK
1. STrame# $eaAT W 3cgfae HeRar
2. FETEAT S WAT 3Terstar

3. qerashuT (Ramsferein) &1 faear

65.

66.

d RRw av FT 1 39T WF € 3R gAw
(a)Faer 1 3R 2 (b) Fhael 2
(c)hae 1 3 3 (d)1,2 3 3

afaf@a syt W AR fifgw:

il e, fawrasiier g2t # Tda AeTg faery 6 e

H TUEaRd gl & AeAfaidd dalilel & Fgradr X

Hohd &

1. TGS Foll AIdl FI FH dRIT W 3T T

2. 3Th WISt IRae H FUR g AHATT STl &
9T HUT Yeld .

3.35¢ 3eToh 3cUleal AR 39T & Yeet 7 gRac 8q
ST &Y.

IRFT A A FieT T/ Fa T &2

(a) a1 (b)haer 1 3R 2
(c)padr 2 3T 3 (d)1,2 3T 3
TR=dg -5

AT SNT ATTaROT #H 3cHfold 6T &1 9 36 war
& HEF AR @ & g W gSI| 39 e, Gl
# aiader a1 a Sfand $ua § T ST & GE&dT S
&I a1 AET, fored gferar T Y A § U &R Aoy
AT GHET—AT Al R ST WX Scdolel # oot & el
FLT gl AT Y RITAR Sed d9ATT & YHTEr S T
gl 9 gaarg St AfAfRud aRomAt & faeey gram
TG A, T DA 8 Sd & STerarg IRl & Ao
# gioar O STRETEr SeiRd gl Y Hehcll|

frafaf@a & @ #la @1 Fya Jws @R R Tv

He[ooe HT AW HEcaqUl TS Tl T T & aeifer

&2

(a) ¥ TEHRT St FeuoT therel &, a1fasy # &g g Fehd
& & 37 YNl T HIAT THEA I3 Fahell B

(b) STefaryg IRacie & Heal @ fAues &1 vhAre
AT Hie AT o g

(c) It 3cHsiel & favest & fov dlegfFehr gur &
UHET AT JefAAEN g1 ol

(d) IR arfasT & Feretehr aRade sfaRea ) safav
g 3R &l AdHOiT Fot |idl W 3maRda
gl =g T



Passage-6

Cooking with biomass and coal in India is now recognized
to cause major health problems, with women and
children in poor populations facing the greatest risk.
There are more than 10 lakh premature deaths each year
from household air pollution due to polluting cooking
fuels with another 1.5 lakh due to their contribution to
general outdoor air pollution in the country. Although
the fraction of the Indian population using clean cooking
fuels, such as LPG, natural gas and electricity, is slowly
rising, the number using polluting solid fuels as their
primary cooking fuel has remained static for nearly 30
years at about 70 crores.

67. Which of the following is the most crucial and logical

68.

inference that can be made from the above passage?

(a) Rural people are giving up the use of polluting solid
fuels due to their increasing awareness of health
hazards.

(b) Subsidizing the use of clean cooking fuels will solve
the problem of India’s indoor air pollution.

(c) India should increase its import of natural gas and
produce more electricity.

(d) Access to cooking gas can reduce premature deaths
in poor households.

Passage-7

Many people are not eating the right food. For some, it is
simply a decision to stick with food they enjoy but which
is not too healthy. This is leading to an increase in non-
communicable diseases. This in turn leads to major
burden on our health-care systems that have the
potential to derail the economic progress which is
essential for the poor to improve their lives. For others,
it is about limited access to nutritious food or a lack of
affordability, leading to monotonous diets that do not
provide the daily nutrients for them to develop fully. Part
of the reason nutrition is under threat worldwide is that
our food systems are not properly responding to
nutritional needs. Somewhere along that long road from
farm to fork, there are serious detours taking place.

Which one of the following statements best reflects the

crux of the passage?

(a) The scheme of Universal Basic Income should be
implemented worldwide as a way of poverty
alleviation.

(b) We must place food-based nutrition at the centre of
our policy debate.

(c) Nutritional status of food should be improved by
creating by creating appropriate genetically
modified crops.

(d) Using modern food processing technologies, we must
fortify food items with required nutrient elements.

69.

70.

Passage-8
More than half of Indian women and almost a quarter of
Indian men of working age suffer from anaemia.
According to studies, they are anywhere from 5-15% less
productive than they could be, as a result thereof. India
also has the largest tuberculosis burden in the world,
costing 170 million workdays to the country annually. But
what is just as important as lost productivity now is lost
potential in the future. It is becoming increasingly clear
that on many measures of cognitive ability, malnourished
Indian children perform two or three times worse than
their adequately nourished peers. For an economy that
will be more dependent on highly skilled workers, this
poses a significant challenge. And it is one that really
should be addressed given India’s demographic outlook.

Which one of the following statements best reflects

what is implied by the passage?

(a) Education system must be strengthened in rural
areas.

(b) Large scale and effective implementation of skill
development programme is the need of the hour.

(c) For economic development, health and nutrition of
only skilled workers need special attention.

(d) For rapid economic growth as envisaged by us,
attention should be paid to health and nutrition of
the people.

Passage-9

Today, the top environmental challenge is a combination
of people and their aspirations. If the aspirations are
more like the frugal ones we had after the Second World
War, a lot more is possible than if we view the planet as
a giant shopping mall. We need to get beyond the
fascination with glitter and understand that the planet
works as a biological system.

Which of the following is the most crucial and logical

inference that can be made from the above passage?

(a) The Earth can meet only the basic needs of humans
for food, clothing and shelter.

(b) The only way to meet environmental challenge is to
limit human population.

(c) Reducing our consumerism is very much in our own
interest.

(d) Knowledge of biological systems can only help us save
this planet.
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HRA # TRAE 3R FS § Gl Gl H AT 57>
TITELT GATITHT & $RUT & T H Ygar 1T g, oad
TS G #1 Al AR T Fed s SfEA
A €l & arel 10 o @ 38 3@AT Ald e ag
YGNUT & HROT gl &, fHerT HRUT ygi¥d SueT @ @rer
TRt §1 38d HAREF, 57 $ual & oot g FGNOT
& HROT ST ag Je¥oT H ANTer SHT 1.5 or@ 3R
Ald gt €1 IeIT ARd & Taoo Ul o Tadra,
st e 3R fsrelr @1 suer eR-UR 9% W@ 8
$ff FeTIET 70 3 9T Aot 30 ant & wafAsw Sy
¥ H TgT oM $UT N IYANT F L &

67. farafaf@a # ¥ Fla-ar ga@ Agcayet sk afFs fased

68.

IGNFA TEATT F fAFTET AT WhaT §?

(a) AT AT FATELT AT TART F IR FH SAIRRhAT
dgo & FROT TGN 3 AT T 3UART NS W/ B

(b) TITS WAAT Yl & YT 9 feqsy a1 HRA $r
B arg FGWOT T FHEIT FT gl T S|

(c) ¥R &1 Thfasr A &1 AT dere =@rfge 3R
3 fostelr a1 et arfiRu|

(d) TS AT aF g T IRART F FTHT F TS A
arell Hidt F1 FF HT Gehell &

TR -7
*S AT T s S @ w El T & v Tw Ak
T g AT & R 9 3 Hie @ 3 W@ ded §
Sl 30¢ UHG g, Hol & dg AT & folv 3sT 7 &
saer IRUMH Ig & W@ & & IR-G&#Es 9 (non-
communicable diseases) & EﬁﬁT g W &l g gERY
LT @A gunfordl W ARY &i5F 31T @I &, S
& yerfa & 9edl & 3aR @hdr § — AR FEr g9t
ISl o Sael Hl dgd¥ el o TolT HTETS gl 3T
ATt & fow, 78 dives e @1 WAT qerewdr ar agat
A BT AT T FAT F AT g, T 3AFT 3R
THET ’R 3OATCT AT areT gar §1 YT Hhe Hr
T HRUT Jg o § o gAd @iey goumel divor el
JTARIHATHT HT 81 T AT Ael ¢ &r &l Td T Urelr
deh T 3H ofdl ATAT A HE o Hel AT qH & W B

frafaf@a & & Fia a1 FuaT 59 IS F AN FIH

3reaT gelfar @2

(a) IS 3oHelel & Ueh UM & & H @liiAs A
3T (UBI) AT Y faRg T X o] fovaam ST
BRI

(b) BH #HISTeT TRl WIWOT Y 37oel iy ==l & e
H @ A1fReu|

(c) 9ISUT TR T TR el o [T 3UFFA Hefafren
& & HMAT Bl w1 FATOT fmar s @

69.

70.

(d) 3R WIET JHERIOT ceheilchl hl ST Fileh, §H
@reg aEg3 # 3Maeges Ve ded Ao =@rige]

TR=dg -8

R H SN 3T fT T T ¥ AfRew ik
FAHIT T DA IXW TAfHAr @ 3T 1 sremmat &
3THR, 36 FROT Il 3cUleehdl 5 H 15% dh HA gl
ST &1 SRa A e () @ ST s Tew it
g, foEd < & ¥ A1l 17 5 FrAfeadl 1 Jhars
glaT 81 dfehed fde HAgeaqol adAE 7 Scdigehar
glfel §, 3l &1 HgcaquT ST T HHGA3N T TJohareT
o §1 TE 39 TISC BT S @I § 6 HaledicAs &THar
& ®$ AU W, FUNG ARAT o 30 FHRT
dIYOT e aTel W T JoreT 7 ar ¥ e I e
el ad ol T UEY 3rdcgaedr & faw &Y 33 Hlere
arel AfAH W R A gol, 95 v iy Il Bl
3R g T gl § O R Y Seaiferd fRufa
P ST §U A TS R s anfee

farafaf@a & & sla &1 Fuw 3w el F fafa

acTd F FEW IS T qATar &7

(a) TTHIOT &A1 & AT YoTelr I TqUAFA fohar AT
EURY

(b) Fierer farrT HRIHAT T 93 47 o 3R gt
hdleadel AT HT AT g

(c) 3R fashrer & TIT sharel FHerel ARl & FAELT
3R AvoT WX R{R/AY €I AT T g

(d) g 3nfdF e & T, del & Tareeg 3R qwor
W e &1 ARl

TR=og -9

3o wAfRer H FEE 9 gl Aen R e
JTRTETI3AT T A g1 IfE gARY 3MhieT J& & AT
g S gfady favg gey & s1g O, @ 9gd $T e
g1 ofra Ife g1 3@ AT F U faemer AT Afer dr
e 9, O ufaar 3R & o &1 g THPcHd &
AE T 3P e e IR FASET g F R U
JAfF Jomely Y dE F T B

3Fd HfedE & faed # @ FlF @1 w9 Aot

IR aiffes s Rerer ST gFar 22

(a) JXAT Sharel HJSAT T &IoTal, T 3R JTare Sl
HTHd HTALIHATIHT T qfed X Fehell &

(b) TR Al & fATea &1 ThaAT el HeTq
SAGEIT P WIAT P& gl

(c) BARY SYHIFATAICT FGRT FI o FLAT §AR 30T focd
# gl

(d) s gonferat &1 A & g4 39 U8 &l Sa A
AeE X THhaT B



Passage-10

We often hear about conflicts among different States in
India over river waters. Of the are already 20 major river
systems, 14 water-stressed; 75% of the population lives
in water-stressed regions, a third of whom live in water-
scarce areas. Climate change, the demands of rising
population and the need for agriculture to keep pace,
and increased rate of urbanization and industrialization
will exacerbate water stress. According to the
Constitution of India, water is a state subject and not that
of the Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing demands of
various stakeholders is a basin-based approach to
allocate water amongst constituent regions and States.
Allocating fair share of water to them requires
assessments based on objective criteria, such as
specificities of the river basin, size  of dependent
population, existing water use and demand, efficiency of
use, projected future use, etc. while ensuring the
environmental needs of the river and aquifers.

71. Which one of the following statements best reflects the

most rational, practical and immediate action required
to ensure fair and equitable allocation of water to
different stakeholders?

(a) A national, pragmatic, legal and policy framework for
water allocation should be made.

(b) All river systems of the country should be linked and
huge aquifers created.

(c) Water channels between regions of water surplus and
regions of water deficit should be created.

(d) To mitigate water crisis, water demand of sectors such
as agriculture and industry should be reduced.

Passage-11

Our cities are extremely vulnerable to climate change
because of large concentrations of populations and poor
infrastructure. Moreover, population densities are
increasing in them but we have not yet developed the
systems to address climate change impacts. Our cities
contribute to 65 per cent of the GDP, but there are not
facilities to cater to the needs of the people. It is
Important to address the issues of air quality, transport,
etc, that are vital to identifying sustainable solutions. We
need to involve citizens in city planning and create an
ecosystem that meets the needs of the people.

72. Which among the following is the most logical and

rational inference that can be made from the passage

given above?

(a) Our cities need to have well-defined administrative
set-up with sufficient autonomy.

(b) Ever increasing population densities is a hindrance in
our efforts to achieve sustainable development.

(c) To maintain and develop our cities we need to adopt
sustainability related interventions.

(d) Public-Private Partnership mode of development is
the viable long-term solution for the infrastructure
and sustainability problems of India.

Passage-12

Can a democracy avoid being a welfare state for long?
Why cannot mass welfare be left entirely to the markets?
There is a built-in tension between markets and
democracy. Markets do not work on a one person-one-
vote principle as democracies do. What one gets out of
the market place depends on one’s endowments, skills,
purchasing power and the forces of demand and supply.
Markets reward individual initiative and skill, and may
also lift many from the bottom rungs of society, but some
people never get the opportunity to develop skills that
markets demand; they are simply too poor and too
handicapped; or skill formation takes too long. By
creating jobs, markets may be able to help even unskilled
people, but capitalism has always witnessed bursts of
unemployment.

73. With reference to the above passage, the following

assumptions have been made:

1. Modern democracies rely on the market forces to
enable them to be welfare states.

2. Markets ensure sufficient economic growth necessary
for democracies to be effective.

3. Government programmes are needed for those left
behind in economic growth.

Which of the above assumptions is/are valid?

(a) 1and 3 only (b) 3 only

(c) 2 and 3 only (d)1,2and3

Passage-13

Medieval merchants risked the hazards of the Silk Road
to reach the markets of China; Portuguese caravels in the
15th century sailed beyond the bounds of the known
world, searching less for knowledge than for gold and
spices. Historically, the drive for opening frontiers has
always been the search for resources. Science and
curiosity are weaker drivers. The only way to open up
space, whether the space of solar system or interstellar
space is to create an economic engine and that engine is
resource extraction.

74. Which one of the following statements best sums up the

passage given above?

(a) Wealth generation is the primary motive for any
human endeavour.

(b) Space, whether space in solar system or interstellar
space, will govern our future economy.

(c) Human beings are motivated to explore new frontiers
principally by economic considerations.

(d) Wealth generation is based on the risk-taking
behaviour of some men.
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R 7 Affe Tsat & g A4y STer &t o gust fir
Tol HFEX Bl Bl QU A ugd ¥ & 20 GHW A
gunforat g, [ & 14 ST-Teheakd §; 75% ATETET STol-
HhedTd &t # | &, oad & ve-fags Sa-3rma
arel &¥a1 | STy IRaci, 96 STeaEdr ST #HieT, HIY
H AT IW@ed AT ETRAT, AR Uglaor AT
cAfAHreor Hr gedr afd T dhe @ AR IR
FN| HRA & AU & AR, ST U T T &l
fovr g ¥ & F-Rew IRy aear &
s & [ffea Raursr & gfacadt #Et & &=
Adolel gAafRad & & Foll &-Teh SfA-3menia
gfSeenor, forass Aregw @ H@eafda &t 3 usat & S
S F 3dca fhar vl 3T o 3Eea & fow
3maeTsd g fh I8 forelt a1 affer dr faRivansd, ek
SITHEAT & TR, HiS[al STel 39ANT AR AT, 3TZNT &
cRTCT, S1TasT 1 AT HiaT 37T S aEIforse Aletent
W 3R &1, | & Fqdr 3R Sreryd Hr gafaei
3MaeTRar3it &1 off €T IW@r S|

Arfaf@a & @ i a1 Fya AT Raurs # o
#1 3R 3R FAEEIa IdeT gAaa w &g w9
THEI, TGRS 3 dlchifad wed HY gafar §?
(a) STeT 3TTdeeT @ Ueh ISEI, AT, Plafell IR
Afaera erar IR fRar S afgw)

(b) &1 T gt 1cr gunferdt & 39w & Sier ST arfige
3R faeme STerd{d (aquifers) SeITT et arfgu|

(c) oTeT ITAY 3R STer 319G arel &=7 & o oTor
deTell &1 fAAToT fRar aar anfeu)
(d) STeT Hehe & HHA H&l & AT FT 3R 32T 34
83T T ST HT P Ha fhar Sar anfeu]
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BAR 6T STeary IRaclel & i 3cdftieh Hdeereler &
Fifh TGT IATEAT HI Golcd HF g 3R @aEcgar
FHAR §| SFAEEIT Oelcd AINAR 96 @7 § ofehed g
3ol T Sorarg gRade & gHE @ o fgomelr
ST a1 91T &1 §AR AT GDP &1 65% ANEIA & 8,
Aftret Fgl aell 1 AT F U WA & v g2
graud 76 §1 arg aquradn, aRage e S Acar #
eI AT 3T g, dfeh eps A Ge S
| 58 T AeRen & sy Sl & 3R v tar
aiRfeafas a5 o gem St ahelt 1 Far B9
|
INTd TG ¥ FlA-AT gE@ aArfded I et
fashy fAwraT ST Fwar §?
(a) B T & TUSE SRITETE @ @ WRe foraa
AT TG gl
(b) TRTAR §&d! STAEEAT Uedcd, Tdd d&d ured et
& gAN YITEr H STeT B

73.

74.

(c) BHAR T FI FATT IW@eT 3R Fhfld A & fow
gH Fdd [ra & Gafid gedasial &l 39T ghem|

(d) 3aERTT 3R TR $r gFEeanst & fov
Fraaifaren-fosl sl Srdehrfore FATUTT gl

TR=dg -12
FIT A1 dllhdd o THT dh HedUHRT AT Tl foaT
Shfad @ | 2 FA7 FToTeedol & U G § TR
W DT ST Fhdl g2 dedd 3R TR & g =
3AfAed I giar g1 SToR "Ueh oIidd Teh ale" &
fAeeid 9 &I g T, 1T 6 eiehdd ar gl iR
A R & &1 e giar §, I 3§ HUR, i,
FOAFS IR AR W AR war g SeR
e yare 3R Flra H ST T ¢ AR T
el & T § I 3T FHAT ¢, Afhel F© Al FY
Feft o a5 Jrawy 7 e uren #AifE  wgd A @
g I AT EA §l TR ARRAT T Wb IO
HHETH NIl & FAGG W Hhd @, el Yoltarg H
SRISTITRT A2 ET gl
IRNFA TEIA F Fead A @ & @ 9@
AT AT T .
1. 3MYfAeh SlhcT STelshodIoT H HaTH Tollal & fw
IOIR Fr erfFaal W AR wxa §
2. 9IS A3l & JHTIET daed & fow 3maeges 3nfdes
g gAfdea & &
3.3 e & @IS T I arel & v @y
FIAHAT AT TFLTHRAT gl &l
FIT-F AT AT 8?2

(a)aer 1 3R 3 (b) Fael 3
(c)Fad 2 3T 3 (d)1,2 3T 3
gR=aq -13

AEHT A [esh & HI el IEr o Al

F TR d% L-Igdd q; 1587 HET A I STgTST 7S

AT 6 @ 7 Adhead A, Al IdAd1 3682 A

J81 afee @ar 3R AT A WAFRAF FT F @ AT

ar 75 WAt Wer I ROT AT S T Y

g1 e 3R fSremar @ fAer FAAR @ &l 9% 9%

ﬁmgﬁa‘rmamaraﬁr@a,aﬁamqgamm

Ty o9 § 59 98 OIS g & fav Te e

gotet Hig &l

IWIFd TEHTA FT X FT §?

(a) forelT Y AT JTH T HTT 32T U Folol
glar gl

(b) BRHAST IT dRTAST Hr W sy i rdcgarar
a fafa sl

(c) Fesa 7S AT B Wel HEIA: 3Hh HROT &
T gl

(d) &7 Folel P& AN & SHRGHA 3811 AT ggid W
3R giar gl




Passage-14
land, water and air. But all is not bleak: growing energy
efficiency programmes; integrated urbanization and
transport policy discussions; inroads to energy access
and security and bold energy initiatives, even if not fully
conceptualized suggest the promise of transformation.

75. Which one of the following statements best reflects the

76.

critical message conveyed by the passage given above?

(a) India’s energy decision-making process is ever more
complex and interconnected.

(b) India’s energy and climate policy is heavily tuned to
sustainable development goals.

(c) India’s energy and climate actions are not compatible
with its broader social, economic and
environmental goals.

(d) India’s energy decision-making process is
straightforward supply-oriented and ignores the
demand side.

Passage-15
A social and physical environment riddled with poverty,
inequities, unhygienic and insanitary diseases. Hygiene
has different levels: personal, domestic and community
hygiene. There is no doubt that personal cleanliness
brings down the rate of infectious diseases. But the entry
of the market into this domain has created a false sense
of security that gets conditioned and reinforced by the
onslaught of advertisements. Experience in Western
Europe shows that along with personal hygiene, general
improvements in environmental conditions and
components like clean water, sanitation and food
security have brought down infant/child death/infection
rates considerably. The obsession with hand hygiene also
brings in the persisting influence of the market on
personal health, overriding or marginalizing the negative
impact on ecology and the emergence of resistant germs.

On the basis of the passage given above, the following

assumptions have been made.

1. People who are obsessed with personal hygiene tend
to ignore the community hygiene.

2. Emergence of multidrug-resistant germs can be
prevented by personal cleanliness.

3. Entry of the market in the domain of hygiene increases
the risk of infectious diseases.

4. Scientific and micro-level interventions are not
sufficient to bring down the burden of infectious
diseases.

5. It is community hygiene implemented through public
health measures that is really effective in the
battle against infectious diseases.

Which of the assumptions are valid?

(a) 1and 2 only (b) 3 and 4 only

(c) 4 and 5 only (d) 1,2 and 4 only

Passage-16

In India, over the last decade or so, labour has been
departing agriculture, but is only going to construction
and unregistered manufacturing which are not markedly
better jobs. Services, where labour tends to be most
productive, are not generating the additional jobs the
country needs. India will need 24 million or so jobs over
the next decade. The new sector, e-commerce, can at
best close only half the jobs gap. Only those sectors that
drive domestic demand such as health and education can
comfortably fill the other half.

77. Which one of the following is best Implied in the

78.

passage?

(a) Strong measures need to be taken to reduce the rural
to urban migration of labour.

(b) The working condition in construction and
unregistered manufacturing needs to be improved.

(c) service sector has been reducing the problem of
unemployment.

(d) Increased social sector spending is imperative for
large-scale job creation.

Passage-17

In India, the current focus on the right to privacy is based
on some new realities of the digital age. A right is a
substantive right only if it works in all situations, and for
everyone. A right to free expression for an individual
about her exploitation, for instance, is meaningless
without actual availability of security that guarantees
that private force cannot be used to thwart this right. The
role of the State, therefore, is not just to abstain from
preventing rightful free expression, but also to actively
ensure that private parties are not able to block it.

On the basis of the above passage, the following

assumptions have been made.

1. State should have some institutions to ensure its
appropriate role in a digital society.

2. State should ensure that private parties do not violate
the citizens’ right to privacy.

3. Digital economy is not compatible with the idea of not
violating the citizens’ privacy.

Which of the above assumptions is/are valid?

(a) 1and 2 (b) 3 Only

(c)1and3 (d) 2 only



75.

76.

TR=dg -14
A, STel AR arg S Fareat Hr T @Rerses 8
TS &1 AfhT T F© FRRIHS G B Foll GaTar &
960 SHRAHH; Tehishel AeIoT A aRael Aifel ox ==,
Foil a% 9gg AR gRem & v gaw; AR aed Fei
ugel - Hel & G e & gRHfeud 7 g - gRadd f
3T ST gl
SUNFA AT FT FIX AFeAYOT HGA FAT §?
(a) HRA FT For ATy gfthar 31fs Ffeer 3R 3mow &
TS g% e o W &
(b) IR T Fait 3R Siefary NS Faa fara e &
FIET
(c) R T Faft 3R STorarg N 37 aenfaes, s
3R gAaRolT wedi & 3efehel 6T ¢
(d) AR &1 FaAT Ao gk e 3mgfd Fa § 3R
FIIT 98T T 3UET FAT B

TR -15
IS, AT, IRTTedT AR IaresgaR Rufaar &
T HrATTSIH 3R e ardravor AT &t Fgrar &ar
¢l Taeodl & fAaffesd T gla 8 cafdderd, el 3R
aHeRw| 98 @ § f IfFaed Faeoar dwHs
FATRAT dT aX FT HH Il gl ifched T JTIR 3H &1
# JAY T & Al T & GI&T HGe S ¢ o
faaTuet ganT 3R Ao forar Sirar g1 afReedt g &
33eTd IAT & [ AFIITT Taeodr & AU-a1Y TS
Ster, fAeersT 3R @eg Fram i ey guRt @
Sl &1 Hog 3R FHAT X A 6N FRrae 3 &1 Y
el I el HATH Sefel ST T (AT T el
g, o TIRTEAfAHR W 38 AFRIcAS T AR gfeRredr
SHAToE3t & 3e3a & AoR3iErSl Tl Bl
INFT MEAY F YR N Aafaf@a & & sla-3
AT ST T &
1. S oeT SAfFAIT FIeadl Al ofht Sl 8l & d
AHCIRAS TITodl T 3UeT Fd &
2. ST TIeodl & ATH § Sg-3iwir giaed
SaTop3t & 3E3Ta T AHT S bl B
3.¥9TOdl & 817 H SR & YU & HHhHAG SIHATRAT
1 QA Fear Bl
4. FfAH AR FEA-TRT JIH 3hel FehraAsh STATRAT
& AR Fgl geT Hohd |
5. GRS ATRAT & WE 58 & ATdellieh ey
3T % ATEIH @ WS Feodl & Jed g
FIT-A HTAT AT B2
(a) haer 1 3R 2
(c)hact 4 AR 5

(b)FaeT 3 3T 4
(d)Faer 1,2 3R 4

77.

78.

aR=d< -16
HRAT & o T s & A% $¥ F age ar 3w
g, Affret 3 fadTor & 3R 3rdshia RAfaTr e et
ST @ €, ST TS F AL 8| qanetd, el AHE
AT & WY &1 ART & 30PTS Sk H STl 2.4 S
ARRTT AT HEIRAT gR| AT 8T - SFAYT -
st Imel ARt $ sRAE FX THAT ¥ AW
TS FarEed 3R e Y vl AT-3menRke a5t g@n
& S Hehell B
IRNTT TG F TG 30T sy F741 AFaar §2
(a) HTART & FTHOT T AN FaH FY Aehel & AT F3
FeH Fol dIieT|
(b) TRHTOT 3R 39N fafAAToT 7 e w S [Fufa
# gUR T IaRTST g
(c) @aT &7 SRS T FHET H FHF FT @ L
(d) F3 YA R ISR ol & foIT FHATSS 81T |
Td TG IS B

TR<dE -17
HRA H AT & Aear & 3fferR w o Bfoea
aT I A AREAdidhaId WX IR gl S AfUER
dqell areafds giar § o9 a9 g IRfEfd 7 AR &
fFd & v o g1 afe IS Ifdd H9ar AM9oT &
fEems Serer aEar § ftT graT 3uerey g ¢, ar
3HHr fFcgidd @ FTadIar I gl safaT, I5T AT
SfAT hael HARRT & ool @ g I@al deh AT
g1 8, gfcs 3@ 75 o glafRad #wer giar & & 18
ol @&ar a1 giFd 8 5 3ISRT A 1T o ™
aca
IWFT MEHY F YR N Arafaf@a & & sla-3
AT AT T &
1.7 & Bfoed gae #§ 3w 3R9 qffer Fae
& T To FE3T A IEeIEHAT Bl B
2.7 &I Ig FlARTd =l T0few foh s gat aArrRent
Fr faerar & 3feER &1 ooEd T R
3. BfSea 3rdeaarer AP i Horar & 3FfeERT &

IITT G &

FIT-F AT AT 2

(a) FhadT 1 3R 2 (b) Fael 3
(c)had 1 3K 3 (d) hael 2



79.

80.

81.

82.

83.

84.

85.

86.

87.

Find the Remainder when 1234567891011121314 is
divided by 8?

(a)4 (b) 2

(c)6 (d)3

An 8-digit number 4252746B leaves remainder 0 when
divided by 3. How many values of B are possible?

(a) 2 (b) 3

(c)4 (d) None of these

The number of times the digit 5 will appear while
writing the integers from 1 to 1000 is?

(a) 269 (b) 271

(c) 300 (d) 302

The radius of a circle is increased by 10% then effect on
its area will be:

(a) 20% increase
(c) 25% decrease

(b) 21% increase
(d) 22% decrease

A vessel has 60 litres solution of acid and water having
80% acid. How much water be added to make it a
solution in which acid will be 60%?

(a) 48 litres (b) 20 litres

(c) 36 litres (d) None of these

In an office, 55% persons like tea, 60% persons like
coffee and 45% like both. Then what is the percentage
of persons who like at least one drink.

(a) 80% (b) 70%

(c) 45% (d) 60%

A alone can complete a work in 12 days. A and B
together can complete it in 8 days. How long will B alone
take to complete the work?
(a) 24 days
(c) 16 days

(b) 18 days
(d) 20 days

Ratio of the salary amount of all the male and female in
office is 15: 4 respectively. The ratio of salary amount of
each man and each female respectively is 3 :2. If total
number of employes in office is 350. Find the number of
male employes.
(a) 180

(c) 250

(b) 200
(d) 280

A bag has Rs. 11 in the form of 1 rupee, 50 paise and 10
paisa coins in the ratio of 4 :2 :5. Find the number of 50

paise coins.
(a) 10 (b) 8
(c)4 (d) 2

88.

89.

90.

91.

92.

93.

94.

95.

A person buys three articles P, Q and R for 3,330. If P
costs 25% more than R and R costs 20% more than Q,
then what is the cost of P?
(a) 1,000
(c) 1,250

(b) 1,200
(d) 1,350

The sum of the ages of 5 members comprising a family,
3 years ago was 80 years. The average age of the family
today is the same as it was 3 years ago, because of an
addition of a baby during the intervening period. How
old is the baby?
(a) 6 months

(c) 2 years

(b) 1 year
(d) 2 years and 6 months

If p, g, r and s are distinct single digit positive numbers,
then what is the greatest value of (p+ q) (r+ s)?

(a) 230 (b) 225

(c) 224 (d) 221

A student has to opt for 2 subjects out of 5 subjects for
a course, namely, Commerce, Economics, Statistics,
Mathematics | and Mathematics Il. Mathematics Il can
be offered only if Mathematics | is also opted. The
number of different combinations of two subjects
which can be opted is?
(a) 5

(c)7

(b) 6
(d) 8

Two cities A and B are 360 km apart. A car goes from A
to B with a speed of 40 km/hr and returns to A with a
speed of 60 km/hr. What is the average speed of the
car?

(a) 45 km/hr
(c) 50 km/hr

(b) 48 km/hr
(d) 55 km/hr

There is an order of 19000 quantity of a particular
product from a customer. The firm produces 1000
quantity of that product per out of which 5% are unfit
for sale. In how many days will the order be completed?

(a) 18 (b) 19

(c) 20 (d) 22

If in a certain code, 'ABCD' is written as 24 and 'EFGH' is
written as 1680, then how is IJKL' written in that code?
(a) 11880 (b) 11240

(c) 7920 (d) 5940

The calendar for the year 2025 is same for?
(a) 2029 (b) 2030
(c) 2031 (d) 2033



79.

80.

81.

82.

83.

84.

85.

86.

87.

S 1234567891011121314 &Y 8 ¥ HTeT f&AT JTaT ¢, ar

AYHS FAT FEM?
(a) 4 (b) 2
(c)6 (d)3

T 8-3(h) $T WEAT 4252746B FY 3 W HTT & UT AYGel

0 3TaT §1 BF fFaet AT waa &2
(a) 2 (b)3
(c) 4 (d)3TFT H ¥ FIS TGT

1 & 1000 aF F wft qUIrHT 1 fA@wa §owy 3% '5' F

fFaell IR Y& gem?
(a) 269
(c) 300

(b) 271
(d) 302

afy Rt g9 i B & 10% i gEf A Fwh A
39S 8F%d X FIT THIT 93912

(a) 20% 1 gefer (b) 21% 1 gefer

(c) 25% T AT (d) 22% T FAT

TH 9 H 60 e 3Fd 3R I F1 FAsor § SwA
80% 3Fd gl WA fFaenm s e v w3
#I AT 60% I§ ATT?
(a) 48 ofeX
(c) 36 oflex

(b) 20 ofeX
(d) 3RFT H F FIs g

TFH FRATAT & 55% ANl T GHE FI @, 60% ANT Hrehy
qHE FIS ¢ 3T 45% T qHg FId &1 oY fFasr gfaera
AT FA ¥ FH TF 9T GHS A &7

(a) 80% (b) 70%
(c) 45% (d) 60%

AFd R FF #r 12 Rt & #X gwar ¥ Az B
ffrast st FrF # 8 R&T & g F=a §1 oar s
39 $F A fraa =t & qu Ham
(a) 24 & (b) 18 feaT
(c) 16 feaT (d) 20 fe=T

U FAET A Nl AR Afpenst fr o a9 afw w7
AT 15:4 §1 T3S T2W 3R AR F AT HT AT
32 71 IR FEET F Fa 350 FAAR § O qRw

FeaaREt fr gE&ar fFa &
(a) 180 (b) 200
(c) 250 (d) 280

TH A A 11 Y U 1 FuA, 50 FF 3R 10 W F
e & T & 4:2:5 & oo # 21 50 ¥ F Rt
# T&IAT AT FA
(a) 10
(c) 4

(b) 8
(d) 2

88.

89.

90.

91.

92.

93.

94.

95.

F qfFT A dleT aEqe P, QAR RFT 23,330 F wda
Ifg p#T AT RA 25% HfAF ¥ AR RA Fwad Q&

20% 30w ¢, ar PA AT FT &2
(a) X1,000 (b) 1,200
(c) 1,250 (d) 1,350

3 91 9ed TF URAN & 5 WeEdl T Tl WY 80 a¥
| amer oREr i sitea sy @€ B, S 3 wrer ved o,
FAifH 0 T U T F A g A T A TAAT

3y et §2
(a) 6 HEW (b)1 a§
(c)2 a¥ (d)2 a¥ 6 ALY

I p, g, r T s THT 3T T IHTI-3HST UATCHS 3h

£,a (p+q) (r+s) T AAFIT AT FAT & THaT &2
(a) 230 (b) 225
(c) 224 (d) 221

wF Rt #t vw greEwa & v 5 {wdl - afosy,
sreherre, wifegsdhy, aifora 13k T 1 —&F ¥ & R
et §1 A0 i qf o o W ¢ S« AT 1 H:
st o g ar Rval & fFaa Rffes da@ee 99

ST g &2
(a)5 (b) 6
(c)7 (d) 8

ar TR AR BF T A gt 360 FFHY ¥ vH FR A
¥ BHFr 3R 40 fFdAVEer Hr afy & s & 3k aow A
# 3R 60 fHrefiraer Hr afa F dlted &1 FR i sitwa
aifar F4m gl
(a) 45 Topefi/erer
(c) 50 Tnafi/eer

(b) 48 feRefi/Erer
(d) 55 ferefi/erer

TF dieh F FREY ARy Icarg A 19000 AMET FT AR
Brem &1 Fueh ufd e 3@ 3cag i 1000 AET FT
e w B, ad @ 5% R @ ad @
ST et R & q@r gem

(a) 18 (b) 19

(c) 20 (d) 22

afy fret R Fe & 'ABCD' T 24 3R 'EFGH' FY 1680

forar Srar 8, @ UKL A 3§ Fe F F@ o s
(a) 11880 (b) 11240
(c) 7920 (d) 5940

a¥ 2025 &7 Fost ArAfaf@d & T FH af F Fa=w

& AT gAm?
(a) 2029 (b) 2030
(c) 2031 (d) 2033



96.

97.

98.

99.

100.

A man walks down the backside of his house straight 25 96.
meters, then turns to the right and walks 50 meters

again; then he turns towards left and again walks 25

meters. If his house faces to the East, what is his
direction from the starting point?

(a) South-East (b) South-west

(c) North-East (d) North-west

What is the value of X in the sequence 20, 10, 10, 15, 30,
75, X?
(a) 105
(c) 150

(b) 120 7.

(d) 225

Usha runs faster than Kamala, Priti runs slower than
Swati, Swati runs slower than Kamala. Who is the
slowest runner?
(a) Kamala

(c) Swati

98.

(b) Priti
(d) Usha

Five people A, B, C, D and E are, seated about a round
table, every chair is spaced equidistant from adjacent
chairs,

1. Cis seated next to A.

2. Ais seated two seats from D.

3. Bis not seated next to A.

Which of the following must be true?

1. D is seated next to B.

2. E is seated next to A.

Select the correct answer from the codes given below:
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

99.

Examine the following statements:

1. None but the rich ran affords air-travel.

2. Some of those who travel by air become sick.

3. Some of those who become sick require treatment.
Which one of the following conclusions can be drawn
from the above statements?

(a) All the rich persons travel by air.

(b) Those who travel by air become sick.

(c) All the rich persons become sick.

(d) All those who travel by air are rich

100.

TF Safad 399 W) & R e #r 3 @ 25 e
Torar ¥, AT R 3N AzHT 50 Aex Toar ¥; T a7
1§ 3R Fqgar ¥ AR AR & 25 #Hiex goar 1 IR 3w
W qd e Fr WX A@ He ge § O I_EE Hg @
3gHT fam w4 gl
(a) EfEYOT-g

(c) 3T-qa

(b) Ef&UT-gfeasd
(d) 3aT-ufea#

Aoft 20, 10, 10, 15, 30, 75, X A X FHT AT AT F19M?
(a) 105 (b) 120
(c) 150 (d) 225

3N HAGT ¥ a7 gz &, N wafa & sl glzh &,
warfa s ¥ il Slsd 31 s g iy e
FiT B
(a) shdHeIT
(c) FaTfey

(b) Sfx
(d) 39T

qfer @ A, B,C, D 3R ETF el A F arY 3w ¥ §,
TAF FHl Iera-aarer A1 FRET F T g |
1.C, A% 9Tl H ST gl

2.A,DH g Hie g7 JaT Bl
3.B,A%h ST H =TI daT gl

e & ¥ wla-ar w2

1.D,B% §3TeT H ST gl

2.E, A% 9Tl & dor &

'a?rmgﬁr
(a) Shdel 1 (b) aer 2
(c)axt 1 3T 2 (daTar13iraTa2

frafaf@d Fyat W AR #i

1. %ael AR & ga$ AT H T B

2.%0 T ST gaT$ AT I &, AR U5 I £
3.0 AT S AR 9Sd &, 3e¢ eIl I AT
gielr &

3RFT FYAT A  FiF-T71 Avwy AP a1 FFhar &2
(a) TefT 3R 9T gATS AT FA gl

(b) ST @97 gATS ATAT I g, T FFAR Isd ¢

(c) @ 3HR &T SR 93T £l

(d) ST off gar$ TmET W &, T Gl 3R



